
1. 

Resolving power is 𝜑 =
1.22𝜆

𝐷
 

Optical Resolving power is 𝜑1 =
1.22∗550∗10−9

𝐷
 

 

X-ray Resolving power is 𝜑2 =
1.22∗10−10

𝐷
 

 

𝜑1 > 𝜑2, So Optical Resolving power > X-ray Resolving power 

 

ANSWER: Optical Resolving power is higher  

2. 

Use Pogson’s law: 

𝑚1 −𝑚2 = −2.5lg⁡(
𝐸1
𝐸2
) 

𝑚1 − (−25) = −2.5lg⁡(
102

42
) 

𝑚1 − (−25) = −5lg⁡(
10

4
) 

𝑚1 − (−25) = −1 

𝑚1 = −26 

 

ANSWER: Apparent magnitude is  𝑚1 = −26.  Apparent magnitude for the sun is 

𝑚1 = −26.7. So the sun will be brighter. 
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